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v S @Y Esponenti di 10

Nome: Data: Punteggio: __
102 = 3,84+ 10% =
3x10° = 10° =
—2x10° = 1 x10 =
—2x10% = ~1x10° =
10° = 5,58 10" =
9,82 x 10° = 10* =
10° = 6x 10 =
3x10° = 1,63+ 10° =
10* = 2 x 10? =
3,87 x 107 = -2 x 10° =
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PeBES

Esponenti di 10

Nome:

10 = 100

3 x 10° = 3000

—2 x 10° = —200000
—2 x 10* = —=20000
10° = 1000

9,82 x 10° = 9820
10° = 100000

3 x 10° = 3000

10* = 10000

3,87 x 10* = 387

Data:

3,84+ 10* = 0.000384
10° = 1000
1x10=10

—1 x 10> = —100000
5,58 = 10* = 0.000558
10* = 10000

6 x 10 = 60

1,63+ 10° = 0.00163
—2 x 10% = =200

—2x10° = —2000
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Punteggio:
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